w2 10-313

»
o~

>
»

I

L

f~q

%Eﬂ%ﬁﬁﬁ&ﬁ%@é4&&1 Tt
3 R4 AP
PEARIB AT 220 87 Ak F % 10835438100 HL4 2T
i% o g AT L PR @Rﬁ%ﬁ%@¢4(UT@f£
RS HEM B A )ER 1T 32 F2 2 5t N2 @
T d RpABEAZE S LT EST BRI ITEAIESE o
3 AyEZ 2 A M ARrEL R oo
ik APEEE YR 0 LR R I RAPRAB R X bR
S A SR B ARrE I BB K R
ﬁ%@%Ao
3 %%ﬁ%ﬁm 2.3 %R 0 etk RIRGF2 1
I P~ ERIEE CRIBFI TR R IFHF & o
“ﬁlm?%’@@%%%ﬁM@%Azﬁﬁagg
Al AN ek - o
ﬂ% LR AR A 2 SR EE o REHEL T3
 HSmE PN F AT
— ~ %3\11;%
(- )& R »
1. ﬁg’f#f' T F PRIR T~ o
B FSVIR AR T ~ o
3. AL T PRAX|T » o
A, PR X FFIRIH T~ o
5. H 5 PBREPRIRT » o
(ZD)H & JT
1. FRE 2 » o
2.4 BA T ~ o

X



(GV]
|t
e

(,m;é

-_—

H N

>1

4

I
4
wWgs Wi

=
4
W
\F\"
v
| F\\
Y]
)
A4
R

/\
|
~—

/\
(I
—
%%

E AR AR M
y
|
S
Wi
P

® ¥

y

~ N
(X ~ R Y
N~ N
om 2
= B oee

v

7N\
Ve f‘
—
& =2
G e
Al
Wq
1
%
N
‘t',;»
e
E
\Tﬁ%
|l
(w
S
s
“)&

A C§ 7 )E IR

(M BFERINZHKTHE -
(L )R FE -
(F ) JFHE -
<*L— A BE REERAAE
ZORAFIFA o
2R EE
(Lo )H & 3% &g r o

P
(3 )H 245

N
#1

f~q
4

|
>\_
i
)
W

E 3 Fo

HisFEHE o

N ARSI F B o

TR 2t R Aot A S

%ﬁﬁf#?ﬁ@l;z SERERE R N S
R SR S e A2

¥
4
»>\_
St
=

I

Rt
<!

—\% z‘*'\



=
\

iE O ERRSEMEE A MR AZ RS R 2 RS
P ik R B RAEPRIBEE A MR L R ER 2 R T
FHL o

F N E AyEE QB P (T o

/



- 1 E (Fat)
(£ BR8P M2 4 2 40)
O00& 1 i+ %

- PRk BRI BRREFOFER FAT A F L PRSI BE L £ R
1iF 2 L HWUEE Y 4 ER T IEE o

S CFERMEC

EXE

(H =0 374 % 2)

1 fEIE P JRIZFL TEP % T A % (& % 200 %)

1_
¥
P4
ik
[\
P4
R\
[\9

1-
_‘:‘:}
[kt
i
A

T




CERE L E e

(£ RBHH MR A 240
OO0 R fc ¥ EHFE

H

FrgH A/ A

®Pp

s S

|~
-h_‘\

<y
o
Yo

i3

v () )
# P

P
¥ 115 3F %2 )(E=C-D)

MY EE R I

TR »-x "

R » AL

14 e

FE £ T~

B,T;—fn] I »

FIEF

SEFERDS A CFRL 4RTAL F)EFE

5T 5

RS R T E

o P B RS R AR E

FAEAE A

AR A

TP FUT ~

SHEFEFEAAM L TER

AP LA E B

#4040

Lo A& .
fira

[
4t

bl




AR

viers %R o
R AW AR RGP A
",L-‘ elql,@l%\’/\ ’.E]/fg:’;‘ﬂ':"_

CHVAY



G2 0 iedR A (50
(KBS HEEE A £40)
OOO# R 1 iT4f 4

-~ RFOEFOFEE R T2 1 T H L -
S s HFERRE S

1 e E FEEY | RFAEY (AerF | REL

(B = ard ) [ (He: 3rd )

T:‘\:

IRy
B0\
[\
IR
b
\_
=
A
=
4ot
b



